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Note : There are three sections and all are compulsory.

SECTION - A
1.  Fill in the blanks with appropriate word(s) given
in brackets : 5x1=5
(a) Biased errors are . (cumulative/
compensating)
(b) A diagram is a ________ form of

presentation of data. (text/visual)

(c) The sum of absolute deviation from the

median is __________ . (maximum/
minimum)

(d) A ratio of a part in a total to another part in
the same total is called ratio.
(hybrid/interpart)

() _________ plays an important role in
checking the symmetry of data. (Mean/
Mode)
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2,  State whether the statements given below are true

or false : 5x1=5
(a) The variance and coefficient of variance is
the same.

(b) Only mathematical measures of average
can be calculated by using weights.

(¢) In a frequency distribution graph, value of
variable is shown on x-axis.

(d) Rectangle can also be sub-divided.

(e) Range can be calculated for an open-end
data.

SECTION - B
Attempt any iwo of the following :

3.  Discuss the importance of the study of statistics 15
and show how it is useful in the extension of
scientific knowledge, the establishment of a sound
business and the formulation of a plan for national
economic development.

4. Draw a Lorenze curve from the following data: 15
Income No. of persons (in thousands)
(in thousand %)
Class - A |[Class - B|Class - C
10 5 8 15
20 10 7 6
40 20 5 2
50 25 3 1
80 40 2 1
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5. (3
(b)
6 (@)
(b)

The measure of skewness for a certain
distribution is —0.8. If the lower and upper
quartiles are 44.1 and 56.6 respectively, find

the median. 10+5
State the three main purposes of
measurement of dispersion.

What do you mean by selection of an
average ? 8+7
Give two examples where geometric and
harmonic mean would be the most suitable
average.

SECTION - C

7.  Distinguish between any two of the following :  5+5

(a)
(b)

(c)
(d)
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Statistical Method and Experimental
Method

Absolute and Relative Error

Simple and Bi-variate frequency Table
Mean and Median
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(b)

6. (a)
(b)
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7. Trefafed # @ fl & 4 sid aa? - 5+5

()
(b)
(©)
(d)
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